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Direction 1 - 5 : The following questions are based
on the passage that is jumbled and divided into
same parts. Find out the actual sequence by
rearranging them in the correct order to make the
paragraph contextually and grammatically
coherent, then answer the questions that follow.
A. The Green Revolution was a period of time in
which new technologies were introduced to
increase crop vields.

B. It led to increased food production and helped
to alleviate world hunger.

C. The use of high-yield crop varieties, chemical
fertilizers, and pesticides were key components of
the Green Revolution.

D. The Green Revolution had a significant impact
on agriculture and food production, particularly in
developing countries.

E. However, it also had negative effects, such as
increased dependence on chemical inputs and a
loss of biodiversity.

Q:1 Which of the following will be the SECOND
sentence after the rearrangement?

LA

2.C

3.D

4. E

5.B

Q:2 Which of the following will be the FOURTH
sentence after the rearrangement?

1.B
2.A
3.C
4. E
5.D

Q:3 Which of the following will be the THIRD
sentence after the rearrangement?

1A

2.B

3.C

4.D

5.E

Q:4 Which of the following will be the FIRST
sentence after the rearrangement?
1L.A
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Q:5 Which of the following will be the LAST
sentence after the rearrangement?

1.B

2.E

3.C

4.D

5.A

Direction 6 - 10 :The following questions are based
on the five passages given and the passage is
divided into five parts (A), (B), (c). (D) and (E).
Find out the actual sequence by rearranging them
in a proper way to make it contextually and
grammatically correct and then answer the
questions that follow.

A. Though it is talked of as a layer, ozone is present
in the atmosphere in rather low concentrations.

B. Ozone (chemically, a molecule of three oxygen
atoms) is found mainly in the upper atmosphere,
an area called the stratosphere, between 10 and
50 km from the earth’s surface.

C. By absorbing the harmful ultraviolet radiation
from the sun, the ozone molecules eliminate a big
threat to life forms on earth.

D. Even at places where this layer is thickest, there
are not more than a few molecules of ozone for
every million air molecules. But they perform a very
important function.

E. UV rays can cause skin cancer and other
diseases and deformities in plants and animails.
Q:6 Which of the following will be the SECOND
sentence after realignment?

1.B

2.C

3.A

4.D

5.E

Q:7 Which of the following will be the FOURTH
sentence after realignment?

1L.C
2.A
3.B
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Q:8 Which of the following will be the FIFTH
sentence after realignment?

1L.C

2.B

3.A

4.E

5.D

Q:9 Which of the following will be the
THIRD sentence after realignment?

1.D
2.E
3.A
4.B
5.C

Q:10 Which of the following will be the
FIRST sentence after realignment?

lL.E

2.C
3.A
4.D
5.B
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IAnswers and Solutions

Q:1 The correct answer is option 2 i.e. C.

Correct order of the passage after
rearrangement: A, C, B, D, E.

Sentence A explains what the Green Revolution is
and what it aimed to achieve.

Sentence C provides specific details on the
technologies used to achieve this goal.

Sentence B then follows by stating the outcome of
the Green Revolution, which is increased food
production and hunger alleviation, which was a
direct result of the technologies mentioned in
Sentence C.

Sentence D provides the broader impact of the
Green Revolution on agriculture and food
production.

Finally, Sentence E presents the negative
consequences of Green Revolution.

This order is logical and provides a clear and
coherent overview of the Green Revolution, its
causes, and its effects.

Q:2 The correct answer is option 5 i.e. D.

Correct order of the passage after
rearrangement: A, C, B, D, E.

Sentence A explains what the Green Revolution is
and what it aimed to achieve.

Sentence C provides specific details on the
technologies used to achieve this goal.

Sentence B then follows by stating the outcome of
the Green Revolution, which is increased food
production and hunger alleviation, which was a
direct result of the technologies mentioned in
Sentence C.

Sentence D provides the broader impact of the
Green Revolution on agriculture and food
production.

Finally, Sentence E presents the negative
consequences of Green Revolution.

This order is logical and provides a clear and
coherent overview of the Green Revolution, its
causes, and its effects.
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Q:3 The correct answer is option 2 i.e. B.

Correct order of the passage after
rearrangement: A, C, B, D, E.

Sentence A explains what the Green Revolution is
and what it aimed to achieve.

Sentence C provides specific details on the
technologies used to achieve this goal.

Sentence B then follows by stating the outcome of
the Green Revolution, which is increased food
production and hunger alleviation, which was a
direct result of the technologies mentioned in
Sentence C.

Sentence D provides the broader impact of the
Green Revolution on agriculture and food
production.

Finally, Sentence E presents the negative
consequences of Green Revolution.

This order is logical and provides a clear and
coherent overview of the Green Revolution, its
causes, and its effects.

Q:4 The correct answer is option 1i.e. A.

Correct order of the passage after
rearrangement: A, C, B, D, E.

Sentence A explains what the Green Revolution is
and what it aimed to achieve.

Sentence C provides specific details on the
technologies used to achieve this goal.

Sentence B then follows by stating the outcome of
the Green Revolution, which is increased food
production and hunger alleviation, which was a
direct result of the technologies mentioned in
Sentence C.

Sentence D provides the broader impact of the
Green Revolution on agriculture and food
production.

Finally, Sentence E presents the negative
consequences of Green Revolution.

This order is logical and provides a clear and
coherent overview of the Green Revolution, its
causes, and its effects.

Q:5 The correct answer is option 2 i.e. E.

Correct order of the passage after
rearrangement: A, C, B, D, E.

Sentence A explains what the Green Revolution is
and what it aimed to achieve.

Sentence C provides specific details on the
technologies used to achieve this goal.
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Sentence B then follows by stating the outcome of
the Green Revolution, which is increased food
production and hunger alleviation, which was a
direct result of the technologies mentioned in
Sentence C.

Sentence D provides the broader impact of the
Green Revolution on agriculture and food
production.

Finally, Sentence E presents the negative
consequences of Green Revolution.

This order is logical and provides a clear and
coherent overview of the Green Revolution, its
causes, and its effects.

Q:6 The correct answer is Option 3 i.e. A.

The first statement in a sentence seems to give an
introduction to which the remaining stances follow.
In this, the introductory statement seems to be B’
as it starts with defining ‘'Ozone layer".

Now, keeping this statement in mind, statement ‘A’
seems to succeed by providing a contradictory
statement about the same i.e. Ozone layer by
stating conjunction as well.

Statement 'D' seems to be the third sentence as it
is in continuation of the previous statement.
Statement 'C' seems to provide criticisms on the
provided theme as well as seems to precede the
conclusion of the entire passage.

Statement E' seems to be the last one as it
provides a conclusion for the entire passage by
giving further denotations that UV rays can cause
skin cancer and other diseases and deformities in
plants and animals.

So, we got the sequence i.e. BADCE.

The passage is: Ozone (chemically, a molecule of
three oxygen atoms) is found mainly in the upper
atmosphere, an area called the stratosphere,
between 10 and 50 km from the earth’s

surface. Though it is talked of as a layer, ozone is
present in the atmosphere in rather low
concentrations. Even at places where this layer is
thickest, there are not more than a few molecules
of ozone for every million air molecules. But they
perform a very important function. By absorbing
the harmful ultraviolet radiation from the sun, the
ozone molecules eliminate a big threat to life
forms on earth. UV rays can cause skin cancer and
other diseases and deformities in plants and
animals.

Hence, the correct answer is Option 3 i.e. A.
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Q:7 The correct answer is Option 1i.e. C.

The first statement in a sentence seems to give an
introduction to which the remaining stances follow.
In this, the introductory statement seems to be B’
as it starts with defining ‘'Ozone layer".

Now, keeping this statement in mind, statement ‘A’
seems to succeed by providing a contradictory
statement about the same i.e. Ozone layer by
stating conjunction as well.

Statement ‘D' seems to be the third sentence as it
is in continuation of the previous statement.
Statement 'C’ seems to provide criticisms on the
provided theme as well as seems to precede the
conclusion of the entire passage.

Statement 'E' seems to be the last one as it
provides a conclusion for the entire passage by
giving further denotations that UV rays can cause
skin cancer and other diseases and deformities in
plants and animals.

So, we got the sequence i.e. BADCE.

The passage is: Ozone (chemically, a molecule of
three oxygen atoms) is found mainly in the upper
atmosphere, an area called the stratosphere,
between 10 and 50 km from the earth’s

surface. Though it is talked of as a layer, ozone is
present in the atmosphere in rather low
concentrations. Even at places where this layer is
thickest, there are not more than a few molecules
of ozone for every million air molecules. But they
perform a very important function. By absorbing
the harmful ultraviolet radiation from the sun, the
ozone molecules eliminate a big threat to life
forms on earth. UV rays can cause skin cancer and
other diseases and deformities in plants and
animals.

Hence, the correct answer is Option 1i.e. C.

Q:8 The correct answer is Option 4 i.e. E.

The first statement in a sentence seems to give an
introduction to which the remaining stances follow.
In this, the introductory statement seems to be B’
as it starts with defining ‘Ozone layer'.

Now, keeping this statement in mind, statement ‘A’
seems to succeed by providing a contradictory
statement about the same i.e. Ozone layer by
stating conjunction as well.

Statement ‘D' seems to be the third sentence as it
is in continuation of the previous statement.
Statement 'C' seems to provide criticisms on the
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provided theme as well as seems to precede the
conclusion of the entire passage.

Statement 'E' seems to be the last one as it
provides a conclusion for the entire passage by
giving further denotations that UV rays can cause
skin cancer and other diseases and deformities in
plants and animals.

So, we got the sequence i.e. BADCE.

The passage is: Ozone (chemically, a molecule of
three oxygen atoms) is found mainly in the upper
atmosphere, an area called the stratosphere,
between 10 and 50 km from the earth'’s

surface. Though it is talked of as a layer, ozone is
present in the atmosphere in rather low
concentrations. Even at places where this layer is
thickest, there are not more than a few molecules
of ozone for every million air molecules. But they
perform a very important function. By absorbing
the harmful ultraviolet radiation from the sun, the
ozone molecules eliminate a big threat to life
forms on earth. UV rays can cause skin cancer and
other diseases and deformities in plants and
animals.

Hence, the correct answer is Option 4 i.e. E.

Q:9 The correct answer is Option 1i.e. D.

The first statement in a sentence seems to give an
introduction to which the remaining stances follow.
In this, the introductory statement seems to be 'B’
as it starts with defining ‘Ozone layer".

Now, keeping this statement in mind, statement ‘A’
seems to succeed by providing a contradictory
statement about the same i.e. Ozone layer by
stating conjunction as well.

Statement 'D' seems to be the third sentence as it
is in continuation of the previous statement.
Statement 'C' seems to provide criticisms on the
provided theme as well as seems to precede the
conclusion of the entire passage.

Statement E' seems to be the last one as it
provides a conclusion for the entire passage by
giving further denotations that UV rays can cause
skin cancer and other diseases and deformities in
plants and animals.

So, we got the sequence i.e. BADCE.

The passage is: Ozone (chemically, a molecule of
three oxygen atoms) is found mainly in the upper
atmosphere, an area called the stratosphere,
between 10 and 50 km from the earth’s

surface. Though it is talked of as a layer, ozone is
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present in the atmosphere in rather low
concentrations. Even at places where this layer is
thickest, there are not more than a few molecules
of ozone for every million air molecules. But they
perform a very important function. By absorbing
the harmful ultraviolet radiation from the sun, the
ozone molecules eliminate a big threat to life
forms on earth. UV rays can cause skin cancer and
other diseases and deformities in plants and
animals.

Hence, the correct answer is Option 1i.e. D.

Q:10 The correct answer is Option 5 i.e. B.

The first statement in a sentence seems to give an
introduction to which the remaining stances follow.
In this, the introductory statement seems to be B’
as it starts with defining ‘Ozone layer'.

Now, keeping this statement in mind, statement ‘A’
seems to succeed by providing a contradictory
statement about the same i.e. Ozone layer by
stating conjunction as well.

Statement ‘D’ seems to be the third sentence as it
is in continuation of the previous statement.
Statement 'C' seems to provide criticisms on the
provided theme as well as seems to precede the
conclusion of the entire passage.

Statement 'E' seems to be the last one as it
provides a conclusion for the entire passage by
giving further denotations that UV rays can cause
skin cancer and other diseases and deformities in
plants and animals.

So, we got the sequence i.e. BADCE.

The passage is: Ozone (chemically, a molecule of
three oxygen atoms) is found mainly in the upper
atmosphere, an area called the stratosphere,
between 10 and 50 km from the earth'’s

surface. Though it is talked of as a layer, ozone is
present in the atmosphere in rather low
concentrations. Even at places where this layer is
thickest, there are not more than a few molecules
of ozone for every million air molecules. But they
perform a very important function. By absorbing
the harmful ultraviolet radiation from the sun, the
ozone molecules eliminate a big threat to life
forms on earth. UV rays can cause skin cancer and
other diseases and deformities in plants and
animals.

Hence, the correct answer is Option 5 i.e. B.
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